DU MA Japanese

Topic:- DU_J19_MA_JAPAN

1) BMDIMCAD W&9, [Question ID = 1507]

1. L)L) [Option ID = 6028]

2. BHELY  [Option ID = 6026]
3. &*° L\ [Option ID = 6025]
4. BHZ) [Option ID = 6027]

Correct Answer :-
o »TPL L) [Option ID = 6025]

2) 129—2Y ME. WBWBRRTEEULUBAD EEHE ([CRDJz. [Question ID = 1443]

CRERD [Option ID = 5769]
. $iR%  [Option ID = 5770]
A [Option ID = 5771]
. /X% [Option ID = 5772]

N W N =

Correct Answer :-
o WD [Option ID = 5769]

3) ABEAANTK & BIhUTe. [Question ID = 1488]

1. ~\ [Option ID = 5950]
2. % [Option ID = 5949]
3. T [Option ID = 5952]
4. (C [Option ID = 5951]

Correct Answer :-
e 7% [Option ID = 5949]

4) RERFEENERITEULEW. BA. rEZULTVDDIE,. €D T&%3. [Question ID =
1462]

1. Z & [Option ID = 5845]
. ©D [Option ID = 5846]
. 1z& [Option ID = 5848]
. 5% [Option ID = 5847]

H W N

Correct Answer :-
e & [Option ID = 5845]

5 BHARWZFD__ HHSEIE. [Question ID = 1519]

1. Z54k, [Option ID = 6073]
2. A% [Option ID = 6074]
3. &M% [Option ID = 6075]
4. 2524 [Option ID = 6076]



Correct Answer :-
o 7254k [Option ID = 6073]

6) COEMICIXK ¥HHS. [Question ID = 1517]

. KU\ [Option ID = 6065]

SO EDU [Option ID = 6067]
. B30\ [Option ID = 6068]

. —\ [Option ID = 6066]

N W N =

Correct Answer :-
e KU\ [Option ID = 6065]

7) LARIC&BDAEERE UK. [Question ID = 1433]

1. (FZ < [Option ID = 5729]
2. [FS Z < [Option ID = 5730]
3. (FZ< [Option ID = 5731]
4. (5 < [Option ID = 5732]

Correct Answer :-
o [EZ< [Option ID = 5729]

8) HEIRPIE. & BRICH<. [Question ID = 1475]

. < [Option ID = 5897]

. 3D [Option ID = 5898]

. It < [Option ID = 5900]
LLTCD [Option ID = 5899]

N W N =

Correct Answer :-
« < [Option ID = 5897]

9) XEM BEEBFERWVWEERDTTEEMENSDSD. [Question ID = 1521]

1. /\ [Option ID = 6084]
2. (& [Option ID = 6082]
3. /' [Option ID = 6083]
4. T [Option ID = 6081]

Correct Answer :-
e T [Option ID = 6081]

10) WY E1—%(E. RET. fEL o [Question ID = 1480]

1. 7ZH'5 [Option ID = 5919]
2. &1\ [Option ID = 5920]
3. X239\ [Option ID = 5917]
4. (<L) [Option ID = 5918]

Correct Answer :-
e 29\ [Option ID = 5917]

11) SAH5 HUBKED EDDZFE U, [Question ID = 1506]



1. &> & [Option ID = 6023]
2. 3°> & [Option ID = 6024]
3. U & [Option ID = 6021]
4. (FAD [Option ID = 6022]

Correct Answer :-
e« UD & [Option ID = 6021]

12) HARDHWXIE, ABDRE %13 TWS. [Question ID = 1487]

1. & [Option ID = 5948]
2. % [Option ID = 5947]
3. T [Option ID = 5946]
4. (C [Option ID = 5945]

Correct Answer :-
e (C [Option ID = 5945]

13) SETAEFEITDIZ L. HWA WWERICIRBEBS5. [Question ID = 1465]

1. &£ &6I(C [Option ID = 5860]
2. [CHMFC [Option ID = 5859]
3. [C DLV [Option ID = 5857]
4. (C& > T [Option ID = 5858]

Correct Answer :-
e (CDUL\YT [Option ID = 5857]

14) HDANIE. AZM'HSHFE. [Question ID = 1427]

1. [CAZ [Option ID = 5707]
2. UA/Z [Option ID = 5708]
3. [CA/Z [Option ID = 5706]
4, = A= [Option ID = 5705]

Correct Answer :-
o ZTAZ [Option ID = 5705]

15) BURFDYD 77 « B3 UTWBAD' £\, [Question ID = 1469]

1. (CK DT [Option ID = 5873]
2. &L VDT [Option ID = 5876]
3. [Cx LT [Option ID = 5875]
4. (C& DT [Option ID = 5874]

Correct Answer :-
e (CKD T [Option ID = 5873]

16) EAR L hHENERE, [Question ID = 1522]

1. Z&TH [Option ID = 6088]
2. LCEH [Option ID = 6085]

3. &£ TH [Option ID = 6087]
4. 3 &CE [Option ID = 6086]

Correct Answer :-



+ ULT% [Option ID = 6085]

17) #k&FDHIEZ IFhIELWN &L\ [Question ID = 1463]

1. (Z& [Option ID = 5850]
2. C & [Option ID = 5851]
3. @D [Option ID = 5849]
4. fz&b [Option ID = 5852]

Correct Answer :-
o B [Option ID = 5849]

18) BWEDEZTAIRRZZICEFO>TLKEZL\. [Question ID = 1439]

1. 4l [Option ID = 5754]
2. Fr3# [Option ID = 5756]
3. %7 [Option ID = 5753]
4. 7£%¢ [Option ID = 5755]

Correct Answer :-
o I [Option ID = 5753]

19) BDF(CfHD WaLS5Eo1k.
[Question ID = 1500]

1. J&#LC [Option ID = 6000]

2. /@2 T [Option ID = 5997]
3. #l&> T [Option ID = 5998]
4. JRAT [Option ID = 5999]

Correct Answer :-
e HDT [Option ID = 5997]

20) #BELUVLLEZHDE. B3 HYEE [Question ID = 1441]

1. Jix [Option ID = 5763]
2. Ik [Option ID = 5764]
3. & [Option ID = 5762]
4. /i) [Option ID = 5761]

Correct Answer :-
o Jiij [Option ID = 5761]

21) Chix. FHEIC HMBNTWBDHLIRAIZ. [Question ID = 1489]

1. /5 [Option ID = 5955]
2. N\% [Option ID = 5956]
3. & T [Option ID = 5953]
4. &% [Option ID = 5954]

Correct Answer :-
e X T [Option ID = 5953]

22) [KE& T&%3. [Question ID = 1501]



. X% 5¢ D)5 [Option ID = 6004]

. EHVRZEFEBIE  [Option ID = 6003]
. Em e B)E  [Option ID = 6002]
.27 EB)E  [Option ID = 6001]

N W N =

Correct Answer :-
o Z27ZE3)E [Option ID = 6001]

23) {#FRRAGEEDUEIE, [Question ID = 1431]

1. (FHA [Option ID = 5721]
2. [FDF A [Option ID = 5723]
3. (FF A [Option ID = 5724]
4. (ST A [Option ID = 5722]

Correct Answer :-
o (FA'A [Option ID = 5721]

24) *Atg(tﬁﬁigﬂﬁbtb\to S55I(C, iﬁ(:%jt\ %%O)EP(:]\D-CngDto [Question
ID = 1467]

. €O [Option ID = 5866]
. £ [Option ID = 5868]
. 3D [Option ID = 5867]
. Z [Option ID = 5865]

D WN -~

Correct Answer :-
e @ [Option ID = 5865]

25) LI AEHHD. [Question ID = 1516]

1. A [Option ID = 6064]
2. [ii#% [Option ID = 6061]
3. [ K [Option ID = 6063]
4. TH ¥4 [Option ID = 6062]

Correct Answer :-
o 4% [Option ID = 6061]

26) F1 & AH SESFRBYEVBDIEHICEDHURIERTHSD. [Question ID = 1490]

1. & [Option ID = 5960]
2. & [Option ID = 5957]
3. % [Option ID = 5959]
4. 7' [Option ID = 5958]

Correct Answer :-
« % [Option ID = 5957]

27) oD FICANTLEEL. [Question ID = 1511]

. DL [Option ID = 6042]
. 1830\ [Option ID = 6041]

. BLYLLY [Option ID = 6044]
. BB [Option ID = 6043]

N W N =



Correct Answer :-
o 1LY [Option ID = 6041]

28) CDZ 3 LHEAIIRMEFZ W5, ESULEDIESBSH. [Question ID = 1473]

1. k&3 [Option ID = 5889]

2. /kAC  [Option ID = 5891]
3. fkAUTZ [Option ID = 5892]
4. fkd» [Option ID = 5890]

Correct Answer :-
o A% [Option ID = 5889]

29) ThL. THUL ECBICEFLHRENNWEUZ. [Question ID = 1505]

1. 3% [Option ID = 6017]
2. &Z C [Option ID = 6020]
3. LD [Option ID = 6018]
4. ZZ [Option ID = 6019]

Correct Answer :-
o 372 [Option ID = 6017]

30) UOSHRRTHLWVD, EF Tl&EU [Question ID = 1485]

1. H'5 [Option ID = 5940]
2. T [Option ID = 5937]
3. (F& [Option ID = 5938]
4. &% [Option ID = 5939]

Correct Answer :-
e T [Option ID = 5937]

31) HIIHEEEESSAHDTNDS, HEDELSE, [Question ID = 1451]

1. (T [Option ID = 5804]
2. ¥ [Option ID = 5802]
3. 7= (C [Option ID = 5801]
4. =5 & [Option ID = 5803]

Correct Answer :-
o JZZFEIC [Option ID = 5801]

32) HTILHOHEWEMEIEUZ, [Question ID = 1432]

1. U [Option ID = 5726]
2. LT [Option ID = 5725]
3. UCS [Option ID = 5728]
4. > [Option ID = 5727]

Correct Answer :-
« U C [Option ID = 5725]

33) BEOEEFEZETS . DEWELS 2D, [Question ID = 1476]




1. & [Option ID = 5903]
2. Z [Option ID = 5902]
3. C [Option ID = 5904]
4. (C [Option ID = 5901]

Correct Answer :-
e (C [Option ID = 5901]

34) CNIIHADERTT . [Question ID = 1428]

1. [FA=w S [Option ID = 5710]
2. [¥A,< > [Option ID = 5712]
3. [FAK< [Option ID = 5711]
4. [ 7AZw [Option ID = 5709]

Correct Answer :-
o [TAEw [Option ID = 5709]

35) FEDA 7 (&, BEULWEREMHEDH A% URIFNER SV, [Question ID = 1482]

1. (& [Option ID = 5928]
2. %z [Option ID = 5927]
3. C [Option ID = 5925]
4. (C [Option ID = 5926]

Correct Answer :-
e T [Option ID = 5925]

36) \—F 1 —ICRBTZ<ETADAD KRB LB, T4 bidh o7z, [Question ID =
1454]

1. (Cx LT [Option ID = 5816]
2. & &EBIC [Option ID = 5814]
3. [CHULT [Option ID = 5813]
4. ([C& DT [Option ID = 5815]

Correct Answer :-
o (CHUT [Option ID = 5813]

37) tLWLWDIC, HFEA FHETHREREDICRTS NI, [Question ID = 1470]

1. (Eo &0 [Option ID = 5877]
2. L\D> <D [Option ID = 5878]
3. KT F = [Option ID = 5880]
4. H21H 2 [Option ID = 5879]

Correct Answer :-
e (D&M [Option ID = 5877]

38) HENHBOEDT. A~ (X #HZEDTVWEY . [Question ID = 1512]

. DL [Option ID = 6045]
. 2213 [Option ID = 6048]

. 17573 [Option ID = 6046]

. 34573 [Option ID = 6047]

N W N =



Correct Answer :-
e SN UL [Option ID = 6045]

39) ENROTHS b\ D>TE/. [Question ID = 1510]

1. (EF L LY [Option ID = 6037]
2. $LYLLY [Option ID = 6038]
3. (CH% [Option ID = 6040]

4. BHZL) [Option ID = 6039]

Correct Answer :-
o (ZIF UL [Option ID = 6037]

40) HHSHEE 9. [Question ID = 1520]

1. 7z [Option ID = 6079]
2. 7Y [Option ID = 6077]
3. C [Option ID = 6078]
4. (Z [Option ID = 6080]

Correct Answer :-
o /' [Option ID = 6077]

41) Hif. AP HEEDERTEKRE Zhof. [Question ID = 1479]

1. % [Option ID = 5914]
2. T [Option ID = 5915]
3. [C [Option ID = 5913]
4. < [Option ID = 5916]

Correct Answer :-
e (C [Option ID = 5913]

42) FEHEBUTWRWAIK__ &3, [Question ID = 1499]

1. #4%§ [Option ID = 5995]
2. A% [Option ID = 5993]
3. U5 [Option ID = 5994]
4. JE4S [Option ID = 5996]

Correct Answer :-
o A% [Option ID = 5993]

1. ;%47 [Option ID = 5751]
2. fx i [Option ID = 5749]
3. F§4T [Option ID = 5750]
4. B [Option ID = 5752]

Correct Answer :-
o I [Option ID = 5749]

44) INTDZEIC SEbEFDE. £BI(CI2B. [Question ID = 1458]



. 32 3 [Option ID = 5831]
.93  [Option ID = 5829]
.29 D [Option ID = 5830]
. B129 3 [Option ID = 5832]

N W N =

Correct Answer :-
o &9 D [Option ID = 5829]

45) #FEEHENFOTLKS___ COHFEZURITNERSIR,. [Question ID = 1508]

1. & T [Option ID = 6029]
2. T [Option ID = 6030]
3. [C(Z [Option ID = 6032]
4. FJz(& [Option ID = 6031]

Correct Answer :-
e X T [Option ID = 6029]

46) SEFLB=E ThN3. [Question ID = 1504]

1. /\ [Option ID = 6014]
2. % [Option ID = 6016]
3. H' [Option ID = 6015]
4. C [Option ID = 6013]

Correct Answer :-
e T [Option ID = 6013]

47) RIC. AZFEDTICHEZILTEKD Ulz5. TESESSh. [Question ID = 1494]

1. & [Option ID = 5974]
2. C [Option ID = 5976]
3. [C [Option ID = 5973]
4. 13 [Option ID = 5975]

Correct Answer :-
e (C [Option ID = 5973]

48) tRlFHBHFTZADHKE A TUWLWD. [Question ID = 1493]

1. & [Option ID = 5971]
2. % [Option ID = 5969]
3. C [Option ID = 5970]
4. (C [Option ID = 5972]

Correct Answer :-
o 7% [Option ID = 5969]

49) {#FERAGHEBEDILEE, [Question ID = 1430]

1. [FA,Z> [Option ID = 5717]
2. EACS [Option ID = 5718]
3. 1A > [Option ID = 5719]
4. A, CS [Option ID = 5720]

Correct Answer :-



« [FAZS [Option ID = 5717]

50) RKBODEEAD__ T EARLHEADRICIT FETT. [Question ID = 1471]

1. Z7= [Option ID = 5881]

2. £9 %9 [Option ID = 5883]
3. JZATZ A [Option ID = 5884]
4. F7=(Z [Option ID = 5882]

Correct Answer :-
o XJZ [Option ID = 5881]

51) BlE—KHTBH BBR. ROLE EDOhh o7z, [Question ID = 1491]

1. & [Option ID = 5962]
2. O [Option ID = 5961]
3. @ [Option ID = 5964]
4. (C [Option ID = 5963]

Correct Answer :-
o /' [Option ID = 5961]

52) f5as(C A&, COHKICLHTEBEFWNWTLSIEEL\. [Question ID = 1446]

1. BUVAL  [Option ID = 5783]
2. FF5IAE  [Option ID = 5781]
3. FULIAL  [Option ID = 5782]
4. %530 [Option ID = 5784]

Correct Answer :-
o F5IAL  [Option ID = 5781]

53) DL DAREIE. EICANZDHB5HTYI. [Question ID = 1515]

1. #5% [Option ID = 6058]
2. Bk [Option ID = 6057]
3. 2:< [Option ID = 6059]
4. /7 [Option ID = 6060]

Correct Answer :-
 #zk [Option ID = 6057]

54) tkHH'E%E BTUZED/. [Question ID = 1524]

1. U7RU\T [Option ID = 6094]
2. UCI& [Option ID = 6095]
3. CT% [Option ID = 6096]

4. UASTIZ [Option ID = 6093]

Correct Answer :-
e UATI& [Option ID = 6093]

55) HDHEICDWT. HIRTZD D TCLKEZEL\. [Question ID = 1448]

1. M AAYZ [Option ID = 5791]
2. =UDH X [Option ID = 5790]



3. DX [Option ID = 5789]
4. 51X [Option ID = 5792]

Correct Answer :-
e DX [Option ID = 5789]

56) E¥SV(E. HAT—FHW WL HBNTWS. [Question ID = 1477]

1. 7ZH'5 [Option ID = 5907]
2. &£UL\D [Option ID = 5906]
3. 7&DT [Option ID = 5908]
4. &L T [Option ID = 5905]

Correct Answer :-
e & LT [Option ID = 5905]

57) KiE&EF RO THINIZ. [Question ID = 1486]

1. & [Option ID = 5944]
2. % [Option ID = 5941]
3. C [Option ID = 5943]
4. (C [Option ID = 5942]

Correct Answer :-
o 7 [Option ID = 5941]

58) #ld#IE< FEZZHATWEY . [Question ID = 1514]

. ®8ET [Option ID = 6053]
. ¥ 7C [Option ID = 6055]

. B> T [Option ID = 6056]

. 7> T [Option ID = 6054]

D WN -~

Correct Answer :-
e EET [Option ID = 6053]

59) JS>REERMEUIEE_ D l—hAIFEE. [Question ID = 1472]

1. L\DTH [Option ID = 5888]
2. LYD& [Option ID = 5886]
3. LC [Option ID = 5887]

4. L\Z (£ [Option ID = 5885]

Correct Answer :-
o UL\X (L [Option ID = 5885]

60) HITFE=Z 951LFZUTUVS. [Question ID = 1449]

1. Hi 3¢ [Option ID = 5794]
2. Fi% [Option ID = 5793]
3. fici# [Option ID = 5796]
4. A3 [Option ID = 5795]

Correct Answer :-
o Z¢iZ [Option ID = 5793]



61) kIXFHiDHBE. HMRDDEETTHIrNAL Uz, [Question ID = 1445]

1. R1E [Option ID = 5780]
2. [A148 [Option ID = 5779]
3. HJiE [Option ID = 5777]
4. #4& [Option ID = 5778]

Correct Answer :-
« [ [Option ID = 5777]

62) DT ZIIHEHD H <51\, [Question ID = 1459]

1. 1> TE [Option ID = 5835]
2. 72> T% [Option ID = 5833]

3. 1kF&>7TH [Option ID = 5834]
4. kTH [Option ID = 5836]

Correct Answer :-
e JZDC%H [Option ID = 5833]

63) KRDIESHICHLAULTHE&ZIHELS. [Question ID = 1434]

1. 8 D1>< [Option ID = 5735]
2. B W< [Option ID = 5734]
3. B¥>< [Option ID = 5736]

4. B9 ¥>< [Option ID = 5733]

Correct Answer :-
o B9 12< [Option ID = 5733]

64) AIZELVEIDIDBLEEN. BUTRRICRBIEDRS EWVNWSEH kD TLVEL\, [Question ID
= 1492]

1. 7 [Option ID = 5967]
2. % [Option ID = 5965]
3. T [Option ID = 5968]
4. (C [Option ID = 5966]

Correct Answer :-
e 7 [Option ID = 5965]

65) E& (& AD & #%& BlF3. [Question ID = 1425]

. DUz [Option ID = 5700]
. D UL+ [Option ID = 5699]
. L\ % [Option ID = 5698]
. LWL ¥ [Option ID = 5697]

N W N =

Correct Answer :-
e LYU* [Option ID = 5697]

66) JFEFTBDT. FII\A bR,

[Question ID = 1436]

1. #28b7= [Option ID = 5741]



2. Ji&T=z  [Option ID = 5743]
3. {27z [Option ID = 5744]
4. |87z [Option ID = 5742]

Correct Answer :-
o Hr&bT= [Option ID = 5741]

67) CODHLEIFTHIC 3. [Question ID = 1456]

. LULYTULVB [Option ID = 5823]

. 3L TS [Option ID = 5821]
. 5XTWL3 [Option ID = 5824]
. S5FDTCTWLD  [Option ID = 5822]

D WN -~

Correct Answer :-
e XLTLVD [Option ID = 5821]

68) COFIEZEEITIBDIE DALAR ZETIERRL. [Question ID = 1440]

1. i 3 [Option ID = 5760]
2. [&% ¥ [Option ID = 5758]
3. £ ¥ [Option ID = 5759]
4, J&"% [Option ID = 5757]

Correct Answer :-
o JEE [Option ID = 5757]

69) EX XA i35 [Question ID = 1460]

1. [CKD T [Option ID = 5839]
2. &LYD [Option ID = 5840]
3. & UC [Option ID = 5838]
4. (&> T [Option ID = 5837]

Correct Answer :-
e (C&D T [Option ID = 5837]

70) &1 TEFBELSIC. £HUFLELS. [Question ID = 1429]

. Z3h < [Option ID = 5714]
. 25 < [Option ID = 5716]
. M < [Option ID = 5713]
. ZH'< [Option ID = 5715]

N W N =

Correct Answer :-
o CH K [Option ID = 5713]

71) HSDOEOBUEICDWT. HRRED Z5DTLEEL\. [Question ID = 1513]

1. MAM X [Option ID = 6051]
2. && X [Option ID = 6050]
3. {H X [Option ID = 6049]
4. &5 M X [Option ID = 6052]

Correct Answer :-
o {HZ [Option ID = 6049]



72) ABiEFEE_ \WOREDTHSD. [Question ID = 1474]

1. (CFEDLVT [Option ID = 5896]

2. [CEHLT [Option ID = 5895]
3.[C BT [Option ID = 5894]
4. (C& DT [Option ID = 5893]

Correct Answer :-
e (C&D T [Option ID = 5893]

73) ZHDTHZEVISD. [Question ID = 1447]

1. (F=d+ [Option ID = 5788]
2. (733D [Option ID = 5787]
3. < S [Option ID = 5785]
4. 779" [Option ID = 5786]

Correct Answer :-
e« <5 [Option ID = 5785]

74) IL—=IE B ICEESRITNIRDFEEA. [Question ID = 1444]

. 525 [Option ID = 5775]
. B5 [Option ID = 5776]
. 575 [Option ID = 5773]
. %5 [Option ID = 5774]

N W N -

Correct Answer :-
« 5Fi5 [Option ID = 5773]

75) MEE EFICKRERAENHD D, o [Question ID = 1450]

1. (CZT [Option ID = 5798]
2. (DI [Option ID = 5799]

3. DE® [Option ID = 5800]
4. L\S(C [Option ID = 5797]

Correct Answer :-
e (L\BICZ [Option ID = 5797]

76) HADRES: s FRULEWERDTWET . [Question ID = 1453]

1. (CHULVT [Option ID = 5811]
2. [CDULYTC [Option ID = 5810]
3. [C<1OX T [Option ID = 5809]
4. [C< BT [Option ID = 5812]

Correct Answer :-
o [C<1DZT [Option ID = 5809]

77) COUIFFlE. FAE RINIE, FXRV. [Question ID = 1478]

1. (& [Option ID = 5912]
2. % [Option ID = 5909]
3. T [Option ID = 5910]



4. (C [Option ID = 5911]

Correct Answer :-
o 7 [Option ID = 5909]

78) —AN&EBHEEE ABo
[Question ID = 1503]

1. (C [Option ID = 6011]
2. % [Option ID = 6009]
3. T [Option ID = 6012]
4. ¥ [Option ID = 6010]

Correct Answer :-
e 7% [Option ID = 6009]

79) COR¥TIE. HAERE  BRL PEEFRE. WBWLWBRE HZMH T SD. [Question
ID = 1468]

1. £k B & [Option ID = 5870]
2. %(2 8 [Option ID = 5872]
3. [CHF T [Option ID = 5871]
4. (C& > T [Option ID = 5869]

Correct Answer :-
e (C&D T [Option ID = 5869]

80) HEEFEEMDIRDT. BEHLL . [Question ID = 1457]

1. fkZE7/20\  [Option ID = 5827]
2. EHMRLY  [Option ID = 5826]
3. FAEPIRL  [Option ID = 5825]
4. iR 5720\ [Option ID = 5828]

Correct Answer :-
o FAz7RLY  [Option ID = 5825]

81) KIEBIZRRYWYH T#%3. [Question ID = 1509]

1. /5NC S [Option ID = 6033]
2. &< L) [Option ID = 6035]
3. #& S [Option ID = 6036]
4. WS [Option ID = 6034]

Correct Answer :-
e /SCD [Option ID = 6033]

82) H4£IEHD [33HBDM. KZESRRLN. [Question ID = 1466]

1. (Z& [Option ID = 5864]
2. C & [Option ID = 5861]
3. ©® [Option ID = 5863]
4., 7=& [Option ID = 5862]



Correct Answer :-
e & [Option ID = 5861]

83) . A%l INATHRD IC. HPHHXBEREAND. [Question ID = 1464]

1. (Fh [Option ID = 5855]
2. Z & [Option ID = 5853]
3. D [Option ID = 5854]
4. Jz& [Option ID = 5856]

Correct Answer :-
e CZ & [Option ID = 5853]

84) ZED(ICEWVWADTEL TAKRB. [Question ID = 1426]

1. D0 [Option ID = 5701]
2. &DD [Option ID = 5703]
3. & DD [Option ID = 5702]
4. 3D [Option ID = 5704]

Correct Answer :-
e DD [Option ID = 5701]

85) #ALBREA FNT. WA, [Question ID = 1483]

1. & [Option ID = 5932]
2. Z [Option ID = 5929]
3. C [Option ID = 5931]
4. (C [Option ID = 5930]

Correct Answer :-
e 7 [Option ID = 5929]

86) &FTH ML, HEZEDD___ RHIERVWEDTHS. [Question ID = 1481]

1. (& [Option ID = 5923]
2. % [Option ID = 5921]
3. C [Option ID = 5922]
4. (C [Option ID = 5924]

Correct Answer :-
o 7 [Option ID = 5921]

87) RTHRDFEIC HIFTUEDZ. [Question ID = 1518]

1. HEABLT [Option ID = 6069]
2. 5\&> T [Option ID = 6071]
3. ULI'HC [Option ID = 6070]
4. $< > T [Option ID = 6072]

Correct Answer :-
o HEAT [Option ID = 6069]

88) KHMDHIC BB Uk EFAERSIDEDTT. [Question ID = 1437]



. #xiH [Option ID = 5745]
. #3¥42 [Option ID = 5748]
. $%42 [Option ID = 5747]
. $%iH [Option ID = 5746]

N W N =

Correct Answer :-
o %y [Option ID = 5745]

89) MEMDMRIXELSRRD 7Z. [Question ID = 1455]

1. Jzfi [Option ID = 5819]
2. [R D [Option ID = 5820]
3. 12U [Option ID = 5817]
4. —77 [Option ID = 5818]

Correct Answer :-
o JZ=U [Option ID = 5817]

90) HEARSEIF. B DOEDYFEKIZOEDYF Z#UTWLWS. [Question ID = 1484]

1. & [Option ID = 5935]
2. Z [Option ID = 5934]
3. C [Option ID = 5936]
4. (C [Option ID = 5933]

Correct Answer :-
e (C [Option ID = 5933]

91) s &l T%3. [Question ID = 1502]

VB9 B2 ¢E [Option ID = 6005]

. S & [Option ID = 6008]

. EAIJFDZ & [Option ID = 6006]

. NZEz9R3Z& [Option ID = 6007]

D W N -

Correct Answer :-
o« HM¥gBZ&E  [Option ID = 6005]

92) 8AN59H HAFSICIEE ANELLS KD, [Question ID = 1461]

1. £L\VD [Option ID = 5844]
2. &L [Option ID = 5841]
3. [CHWF T [Option ID = 5842]
4. (C& DT [Option ID = 5843]

Correct Answer :-
e & LT [Option ID = 5841]

93) HD&kEF [CANZDHBEAEIE. [Question ID = 1523]

1. IE4 [Option ID = 6090]
2. 1%t [Option ID = 6092]
3. B4 [Option ID = 6091]
4. 4:4E [Option ID = 6089]

Correct Answer :-



« ‘L4 [Option ID = 6089]

94) Bhth HEW DT, JISEDIVWTIFWIFEEA. [Question ID = 1442]

. BN [Option ID = 5767]
. B [Option ID = 5766]
. 71 [Option ID = 5765]
. JiiA1 [Option ID = 5768]

A WN -~

Correct Answer :-
¢ Jitl [Option ID = 5765]

95) AZEONTEFATINS, LEUBWNWTLKEZW. [Question ID = 1435]

1. UAIELY [Option ID = 5739]
2. LAIELY  [Option ID = 5740]
3. UAIELY [Option ID = 5737]
4. U>(EL\ [Option ID = 5738]

Correct Answer :-
o UAIZLY [Option ID = 5737]

96) HAT—HFEREREE T&3. [Question ID = 1497]

1. Jbi&iE [Option ID = 5985]
2. LM [Option ID = 5987]
3. AJ  [Option ID = 5986]
4. JY[# [Option ID = 5988]

Correct Answer :-
o Jtif§i& [Option ID = 5985]

97) <#FIC BBICHB. [Question ID = 1498]

. TEHOIT [Option ID = 5992]
. FH'ET [Option ID = 5990]

. 5\A,C [Option ID = 5989]

. EENT [Option ID = 5991]

N W N =

Correct Answer :-
e S\AT [Option ID = 5989]

98) HAGETIE. SREBERLITIDIC {5, [Question ID = 1496]

1. U5 7% [Option ID = 5981]
2. WMzhV& [Option ID = 5983]
3. B DAY [Option ID = 5982]
4. 5\DH'72 [Option ID = 5984]

Correct Answer :-
o USHYR [Option ID = 5981]

99) [ENLRTE. | @ IEFNVRI (& T3»3. [Question ID = 1495]

1. @5 [Option ID = 5979]
2. %50 [Option ID = 5978]



3. Bhi [Option ID = 5980]
4. % [Option ID = 5977]

Correct Answer :-
o 443 [Option ID = 5977]

100) COMERZEINIEIERXD bhr5i<2>TL B, [Question ID = 1452]

1. /5 [Option ID = 5806]
2. <50\ [Option ID = 5808]
3. (Z& [Option ID = 5805]
4. KD [Option ID = 5807]

Correct Answer :-
e (X & [Option ID = 5805]



